[image: A maze with a starting point and 2 endpoints, room A and room B. There are several roads to get to 1 of the end points, which are in different colors. There are 3 different ways to get to room A, and 2 different ways to get to room B. There are 3 spinners that determine which road the player takes. Start. From the start point, there are 3 roads, a red road moving toward a fork, or fork 1, a blue road that goes directly into room A, and a yellow road moving towards a different fork, or fork 2. The start point has a spinner with 3 parts. It is divided in half, which is red. The remaining half is divided into 2 equal parts, yellow and blue. The red road goes to fork 1. From this point, there are 2 roads, a red road going into room B, or a blue road going into room A. Fork 1 has a spinner with 2 parts. 3 fourths of the spinner is red, 1 fourth is blue. From the start point, the yellow road goes to fork 2. Fork 2 has 2 roads, a blue road going into room A, or a red road going into room B. Fork 2 has a spinner with 2 parts. 3 fourths of the spinner is red, 1 fourth is blue.]














[bookmark: _GoBack]Spinning the start spinner sends you straight into Room A or toward Fork I or Fork II. Then spin those spinners and follow the path which matches the color the spinner arrow “lands in”. With work to support your solution (A tree diagram showing each stage is strongly suggested.), find the probability for this game of going into _______. Give simplified fraction solutions. 
(a) Room A						(b) Room B
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